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 50 0 50  0 50 50  50 50 100 

 0 50 50  50 0 50  50 50 100 

 50 50 100  50 50 100  100 100 200 

 

(50-25)2/25+(50-25)2/25+(50-25)2/25+(50-25)2/25=100 

(2-1)(2-1)

100>3.84 5

 



 

 

6) 9 7.5 , 1.5

7.0

 

t µ
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X
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s n

µ−
= 8=9-1 t S=1.5, n=9
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t>t0 µ=7 (7.5-7)/(1.5/3)=1 8 t

5% 1.86 5% 7.0

 

µ=7 t>1.86 5% t>1.86 µ<7 t>1.86  

 

 

 



7) 2500 50

95  

n, p r p, p(1-p)/n

P(-1.96<(r-p)/(p(1-p)/n))1/2<1.96)=0.95  

P(r-1.96(p(1-p)/n))1/2<p<r+(p(1-p)/n))1/21.96)=0.95 

P=0.5 0.5 0.5

0.5/50*1.96=0.5 0.0196 

 

8) 9 25kg 5kg 7 17kg

4kg  

(a) 
 

F=25/16=1.5625. 1

8,6 F 2.5% 5.6 2 5%

6,8 F 2.5% 1/4.652=0.215

 

 

 

(b) 95  

(n-1)s2/σ2
n-1=8 8 2.5%

2.5% 2.18 17.53 P(2.18<(n-1)s2/σ2
<17.53)=0.95  

P(8 s2/2.18>σ2
>8 s2/17.53)=0.95 s=5 95% 11.41

91.74  

9) 100 A,B,C A,B,C

Pr(A):Pr(B):Pr(C)=1:2:1

 

 A B C  

 20 45 35 100 

A 25 B 50 C 25

 



(20-25)2/25+(45-50)2/50+(35-25)2/25=5.5 0

 

 


